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Instruction : 1) All questions are compulsory
2) Figures to the right indicate full marks.

Explain the meaning of any four of the following terms in not less than five lines each :- 08
RRBs

Hyper Markets

Hypothecation '

Reinsurance

Ombudsman Scheme

K.P.O.

vii) Coastal Shipping
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Answr any two of the following :- 16
Explain in brief banking system in India.

Explain the changing role of banks in today’s comeptitive environment

Explain in brief various principles of insurance.

Answer any two of the following :- 16
Explain the recent developments in the field of railways.

Explain the measures taken by the Govt. of India to promote Tourism and Hospitality
Industry.

What are the factors responsible for the growth of organised retailing in India.

OR
Write short notes on any two :- 16
Merchant Banking

Organised Vs. Unorganised Retailing
Career options in Tele communication
Recent Developments in Civil Aviation

Case Study :
Sadanandan retired from service last year. After retirement, as expected, he is

facing financial problem with rise in cost of living. These days he looks a worried man.
He has received a letter from his bank informing that bill payments via ECS (Electronic
Clearing System) to utility service providers like MTNL, Reliance Energy etc. now at-
tract a bank fee Rs.120 per year for each service provider.

Sadanandan has been paying four bills viz, MTNL, Reliance Energy, LIC and
Mahanagar Gas via ECS. He will now have to pay this bank Rs.600 per year as a fee to pay
bills. He tells himself why should I continue to use ECS facilities when dropping a cheque
in a drop box does not cost me a paisa? Moreover ECS cuts down on paper work for
banks. In that case why charge a fee for the same? He decides not to shell out extra
amount to pay his service providers.

Questions :
Is this new fee levied by the bank in accordance with RBI guidelines? 05
In case a customer decides to fight what course of action is open to him? 05
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